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DATA INTERPRETATION.




DEFINITION OF DI

Definition:- It is the systematic and scientific presentation

of quantitative data in such a form as to explain the problem
under consideration.



TYPES

TABULAR Chart

PIE Chart
LINE Graph
DATA
INTERPRETATIO BAR Graph
N

RADAR Chart

CASELET (PUZZLE)

BOX and WHISKER Chart /
Plot

DOUGHNUT Chart




IMPORTANT TOPICS FOR DI

Usually the questions of DI are based on
following topics ---

Percentage

Profit & loss

Average

Ratio & Proportion

Income & Expenditure

Time and Work

Pipe and Cistern etc.
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INSTRUCTION TO SOLVE DATA INTERPRETATION

» Read the question carefully.

» Analyze the Data Carefully.

» Don’t worry about too much data.

» Avoid Unnecessary Calculations.

» Pay close attention to the units used.
» Learn Approximate the values.



Main Heading

Sub Heading

Format of Tabular Chart

Number of medals won by five different

countries in six different years
. YEAR COUNTRY —

¥ A B C D E

2005 120 45 135 65 64

2006 160 60 70 46 28
Data 4 | 2007 142 102 46 43 | 110

2008 172 28 108 39 58

2009 90 64 56 25 64

2010 64 36 85 19 83




Format of Pie-Chart

Percentagewise distribution of teachers who
teach six different subjects

: Total Number of Teachers = 1800
Sub Heading Percentage of Teachers

Main Heading

Physics | Chemist
17% ry

23%

Data

English
27% Hindi
8%



Format of Bar-Graph

Main Heading — Number of Appeared candidates and passed candidates (in
hundreds) in a test from seven different institutes

Sub Heading —— Representation of Appeared and Passed Candidates

45

35
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Candidates

1> Passed
5 Candidates
A B C D E F

-5
G

Data— 2°




Format of Line-Graph

Main Heading —— Percent Profit Earned by two companies over the years

Sub Heading — Representation of Company A and Company B
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Format of Radar- Graph

Main Heading — g/lr(;rgtr:lly data of two series 1 and 2 is given in the following radar

Sub Heading —— Representation of Series 1 and 2

-B-Series 1 -=-Series 2

05/01/2002

09/01/2002

Data —
08/01/2002




Format of Caselet (\Venn — diagram)

20 boys play only hockey, 30 boys play only
T : ~ Cricket and 50 boys play only Football.
Main Information " 12 boys play hockey and football,
15 boys play cricket and hockey.
18 boys play cricket and football.
7 boys play all three games.

Cricket

Data

Football



Main information ——

Format of Caselet (Table based)

A company produces four different products, viz:

Mobile phones, Televisions, Refrigerator and Computers. Each of the products has
two categories, viz ; Category-A and Category-B. The total number of all the
products is 600. 20 percent of the total number of products is computers and one-
third of the total number of products is Television. 40 Percent of the remaining
products are Refrigerators. 50 percent of the number of computers as well as the
number of computers as well as the number Mobile phones is of category-A. 25
percent of the number of televisions is of category-B one-fourth of the number of
Refrigerators is of category-A.

Category A | Category B | Total

Mobile 84 84 168
Phone

Data — TV. 150 50 200
Refrig. 28 84 112

Comp. 60 60 120




_Study the following graph and answer the following questions.

fau 70 3@ &1 = T 3@ 3R YD T U BT IR G |
Given Bar graph shows the earning of 3 Mobile manufacturing companies in 4 different countries.

a1 g3 aR UMW 4 faf¥a <=1 # 3 Maga a0 Huf=al & HHTs @l e=idl g

Earning (in millons) of 3 companies from 4 countries

500
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400

350
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m Apple

250 M One Plus
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W Samsung
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USA Russia China India
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a) 270
b) 280
C) 285
d) 260
e) None of these /

TTH | PIE el

M Apple
® One Plus
m Samsung

500
450
400
350
300
250
200
150
100
50
0

f Qne Plus frg_)g all the c untrl together (in million)?

Earning (in millons) of 3 companies from 4 countries

460




Q.2. If total earning of one plus from all the four countries is increased by 10% but overall
earnings of all companies remains same then find the percentage share of one plus from all the

gﬁw mmﬁ?ﬁwﬂﬂ%ﬁmmﬁ e

a) 41.64%
b) 32.78%
c) 39.54% >00
d) 36.66% 450
e) 28.28% 400

350
300
250
200
150

M Apple 100

® One Plus
wSamsung O

50

Earning (in millons) of 3 companies from 4 countries

460




Q.3. F%d the mg’ket share (%) of Applein |
(%) il'l?[

a) 18.54%

b) 31.42%

C) 54.78%

d) 43.33%

e) 16.67% Earning (in millons) of 3 companies from 4 countries
500

460

450

400
350

300

250
200

150

M Apple 100

® One Plus
wSamsung O

50




Q.4. If earning of apple from India is increased by 20% and earning of apple from USA is
decreased by 30% then earning of apple from India is how much percent more or less then

nings frgm U pto decimal Iae? .
ﬂ?f% 3%% %Mao‘? {amﬁﬁmﬁ%ﬁ

a‘mﬁawmv
a) 5.71% less Earning (in millons) of 3 companies from 4 countries
b) 5.71% more 200 460
C) 6.06%0 less 450
d) 6.06% more 400

e) none of these / 3‘-{3[ 9 ﬂﬁf ol 350

300

250

200

150

M Apple 100

® One Plus
wSamsung O

50




Q 5 What is the difference between total earning of Apple from all four countries and total

mg 0 ung from all four coyntgies?
%r ngr é?’r Y IR 20 A AU B HHTS W T 3’
a) 440 million/ THITAA

RIS
b) 300 million/ JHITA
¢) 260 million/ THITUA Earning (in millons) of 3 companies from 4 countries
d) 360 million/ 500

e) None of these/ §TH I ®Ig a1 450 s

400

350

300

250

200
150

M Apple 100

® One Plus
wSamsung O

50

USA Russia China India
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fau U 3G &1 A9 A 3@ R

Following bar graph shows time of four people to complete the work.

T T IR U6 1 GRT HRA o [ IR AT T 99T Gl 6 |

dy the following graph and answer the following questions.

5 T U4 BT IO G |

-

= Number of days

25

20

15

10

20
16
10
| I
A B C D



Q.1. A and B starts working together and after 2 days, both of them left the work. Then in

how many days the remaining work will be.completed by C? ,

.1.A§ﬁ?5wwu , a%'\'z(i%‘—yﬁ%aw,aﬁq’rﬁmaﬁsﬁml
C mmwﬁ%ﬁ% SITQT?

(1) 12 days

(2) 11 days

(3) 10.8 days

4) 8.5 days

253 none 3;‘ these/'s'-'-l'ﬁ | Hﬁ’{-‘-lﬁ

Number of days
25

20
20

16
15

10
10 8



Q.2. In how many days the total work will be completed, if all the four persons start
worki gether?

2. aﬂ%rwwammwmﬁ% dl feam RN A pasm @RI
SITET?

(1) 40/9 days

(2) 3 days

(3) 80/29 days

(4) 80/23 days

(5) none of these/%'-'-lfr | ﬁﬁ-‘-lﬁ

® Number of days
25

20

20
16
15
10
10 8
0
A B C D



Q.3. If B and C start working together and after 5 days they both left the work and A

alone n S|xth day, then flnd the remalnl of he ork aft 6.days.
g \% mwmm gl
0‘)

1) 1/5
() 1/7
3)2/9
4) 1/8
(5) none of these/%‘l'l?r | Tvlﬁ'sc T-Iﬁ Number of days
25
20
20
16
15
10
10 8



Q.4. If at the place of B, E joins the work with A, C and D, then work will be completed in
40/1 ays..Then Ecompletest Wor I how ma / da s?
B WMWE,A L ng[ g1 8, al &1 40/13 fe o
q:\rr ST 99 E mﬁﬁrﬁrﬁ:ﬁ
(1) 11 3/7 days
(2) 11 4/7 days
(3) 10 3/7 days
(4) 9 5/7 days

(5) none of these/'s'-'-l'ﬁ | aﬁs‘ ol

Number of days
25

20
20

16
15

10
10 8



Q5. If Aworks for 3 days, B works for 4 days, C works for 2 days and D works for 2 days,
Who mple he remainin Work n2 dayrs

agv—r&'?[lﬁz %mzﬁ?mﬁm%aﬁvmﬁﬁ

(1) A

(2) B

(3)C

(4) work is already d Q\S/%"_?%ﬁ AR

(5) none of these Number of days

25

20
20

16
15

10
10 8
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